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| Postulate 4.1 Side-Side-Side (555) Congruence To>Tulat e ]
| —_—
If three sides of one triangle are congruent to three sides
of a second triangle, then the triangles are congruent. B
—_ = Ry
Example If Side AB= DF, ‘E—)‘?f = C
Side BC = EF, and A
Side AC= DF,

then AABC = ADEF.
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Example 1: Write a two-column proof.

December 18, 2019

H J
e /'.I I“\
Given: GH=KJ, AL =]T,and Lis _ N 2r v
the midpoint of GK. —9 |NP¢QL2.$ e ™~
Prove: AGHL = AKJL GLEEKL 7 W K
STATEMENTS REASONS
LG22 KI, HL2Z T, |1 Given

L s 'H12 MlC‘DO\'\"‘ O'p G-K-

Z. G—L—K(_

2. Def. of midpoint

3. AGHL 2 ASL

3. SSS
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R_'F is a Shored
side —»

I+ corcesponds +o

Example 2: Write a two-column proof.

Given: AQRS is isosceles with QR = SR. .
RT bisects QS at E(Jil‘l.t T. P4

2 mpRies QTEEST g itself.
rove - &2 ASTR —> oLAT
S'I?E\TEMENTSAQTR REASONS BT - RT
\. AQRS (s (sosceQeos l. Given

wihQRZSR | RY
bn'SQC.\'S QS ok T.

2. QT23IT [ 2-Def of seament bisector
3. RT2ZRT 3. RedRayive progerty

H. AQTR 2= ASTR\H. SSS
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SAS Postulate The angle formed by two adjacent sides of a polygon is called an
included angle. Consider included angle [KL formed by the hands on the first clock A D
shown below. Any time the hands form an angle with the same measure, the distance
between the ends of the hands JL and PR will be the same.
B -

LABC rg Hha
Vo< Quda
&“3519- betuweon

AR and &< .

APKR = AJKL

Any two triangles formed using the same side lengths and included angle measure will
be congruent. This illustrates the following postulate.
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' Postulate 4.2 Side-Angle-Side (SAS) Congruence ostlcie

! Words If two sides and the included angle of one triangle are congruent B
to two sides and the included angle of a second triangle, then T
the triangles are congruent. > i

Side BC = EF,
then AABC = ADEF.

I I
Example If Side AB = DE, . Q A ¢
Angle £8 = ZE, and ‘ncluclect @ Jes //\\
— D
F
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Example 3:

December 18, 2019

w X

LIGHTING The scaffolding for stage lighting ——

shown appears to be made up of congruent
triangles. If WX = YZ and WX || ZY, write -

a two-column proof to prove that

AWXZ = AYZX.

W X ~

Y

A

&

S_2%

GNea:. (SR LYz, wxllz ZwXz 22 L X2X
Prove: Awxz = aNzx ZHETR
STATEMENTS _ REASONS
w2 Nz oxllzy | 1. Given

2. LwXz =2 L XN

2..0%ernate [nterior ﬂngQasTkm :

. ZN =X

Y. AWXT 2 ANLY

3. Reflonive ﬁ-oper*'j
4. SAS ‘
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ND
Example 4. é FGJ-__— ’AVH 6’3—
EXTREME SPORTS The wings of the hang F- JG- — 36—

glider shown appear to be congruent
triangles. If FG = GH and JG bisects
ZFGH, prove that AFG] = A Ht_f
Gwen: F& ==GH, J6 b|sec+s
FGH.

Prove: AFGTE AH G—J H
\. C6 Z 51, T6 brsecdds [-Griven
LV GH
2. LFGT £ ¢HET |2 Def-of AngLe Brsector
2362 J6 3 RePQ&mue?roperN
4. AFGCIZAHGT - SAS
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